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No. F.
Na gcm® | % kg kg kg kg kg %
1 280 | 108 42 485 70
2 214 83 45 515 130 25
B 3 147 57 48 545 190
4 370 | 143 32 369 70
20 20 5 15 7304 | 117 35 398 130 30
6 237 92 37 428 190
7 460 | 178 22 252 70
JHS 8 393 | 152 | 25 | 282 | 130 35
A 313 45cm 1.052g/cm® 9 | 10 327 | 126 | 27 311 | 190
10 285 | 149 39 444 70
40 50 11 218 | 114 42 483 130 25
5 12 150 79 46 522 190
13 375 | 196 28 316 70
3 14 30 307 | 161 | a1 355 130 30
15 240 | 126 34 304 190
S0mm 100mm 16 464 | 243 | 16 188 70
17 307 | 208 20 227 130 35
18 330 | 173 23 266 190
-1
1.0g/cm® 25 30
35% 3 70 130 190kg/m®
7 28 91 3 JSA 1216 28
30 35% 100kN/m?
5 1
(1)
1 7 28 9l TQu
2 3 28 7 Guze/u7 91 28
(uor/Ou2s Quzs/Qu7 3 4
15 2
(uor/Ous 1.3-1.8
230- 0035 1-3 045- 584- 2896
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25% 140 51
Fc=15% 30% 140 35
35% 110 24
25% 80 39
Fc=30% 30% 80 28
35% 80 17
35% 10°cm/sec
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